T

http:/farbe.li.tu-berlin.de/CE97/CE97LONL.TXT /.PS
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 6/1

Tl

&

520 2, FOTaNy COloU, Y,=100, Mex o5 @D @D b oo o Moy o100 Tox X,=96,70Y,=100 00Z,~111.46 B
Py 08 Wip[max () chromatic value?], 4 ). e e 08 MmC=2.V=1.2.5,8& 3243 -
Y Shromatciy (x.3) soMmlmsrs oo _os Y o ggomaticiy (x.y) Age(ag-[Bo,t0a*20) ¥

ol G 00Ty,=s, % Y, Bo=(y (oo b)) Y

> ! 05 2= 5]

3.2 My=S

3

= = 04 =+

58 ¥ 202y (Vi)

ES b (Y1151

o= o fbmtr)

33 3 s oo

= x S olour, ¥,,=100, Me x Munsell Syswm vw wo Mex

== p [max ()ghromatic valuie?], 00 0

55 10 chromaiig by X 02 04 06 08 10 :nmmancva\ue ‘sn»

= 5 @D G0 b oo R 96,75, F 00 007,16 B T N B,

= 4 A A e e %,70,.3140y,70,3243 10 %,=0,3140%,=0,3243 1

S er Y (oo 2 2] Y

Parame
v Y

Ag=@y-ay vay avay ) Y
B,

A
Bo=(03~[b 0 a*ba D) Y

08

1,685

(0.86-0.73-0,027)¢. -08 00

xw-swg,vw-m,uoz,,-ums B,
%,-03140,-0,3243 10
(85~8s r#5 a*25,1]) Y
(o015 b)) Y
2,,(0.85%-0.71-0.026)]
2,(0,199¢40,388/-0,240)§)
2,7100,0,,=1.00

n=Mex

% 575 vw 002 B,
%4=0,3140%,0,
Ar(ﬂe ey A‘Se v]b M
Be=(05~[Ds +5, 4*D5, v]) Y
o)

=

g
<8
o= = = e [(x-0.174]
QT =S
BE -
Lo VA

] 3 %
£5 2 Se oo bmww
e & 0002 0001 13,y=0,008
gg . g o000
= % 2l6Lr, Y, =100, Mex S | For any colour, v, MunseHSys!em 100, ex o Munsel Sysem Y,=100, Mex o
= 2 ; - . AN =
2m & | chvomanciy (a0 chmmml alve . 53 chremai v
®
o3 o8 0o o8 1s aoiny = xw-swgv,,-mouo;,, T, —
=} —v

o, TR Ao Y =

e 2 e Parame s [y
=9 tor ¥ vy 2= 250 [(-0.1734]
ST ex et by=b [(ox+bop)h]
= sasce y 1, byo- 04
Hd mps
8= e = "
2 E ey (VY1)
= & bay=byy(Ysg1) mmwv/vmn
] g 008 2= 00130008
b byl i g 34°0,0005,3-0,000 200170010
3 1 For anp colour, Y,=100, Mex & el Sytem Y,=100. Hex unsel Sy .= wo Mex
T 7 [max (n) chromatic value?], e €=2,V=1,2,5, 9, Mex -10 9, Mex 10
E chrompicity (as, b chromatic vame vxm B) chromatc va\ue @yB)
ih
=3
3
2
=

10

__ 'mm

TUB-test chart CE97, y), chromatic valueA;, B;),

adaptation: 5A=0, 5Y#0

Munsell Chroma2, Value=1 2,5,8 &9; experlmental ||Ium|nantg\4 (X, yNex—(O 3140, 0,3244)

= E)
3 eV D) ot O]
S bsy=bav(YVig-1) 0,014 -0.005|
H 0003 0001
5 200210008
3 | Forany colour v, Honselsytem =100, ex Hunsel syt ,=100 Vex
© 10 -10
] 1
& | civomatiiy (as be) Chrometc vk e B Chcmai vl (e B0

Cos Corag P Cesmiae

=
E]
=
e
3
@
By
4]
c
s
@
3
@
2
e
=3
%)
=2
o)
<
o
c
=1
S
=1

jeoldde F
BargnL

I
g
o
=}

Sd’/ LXLTN01.630/.63D-T0208T0C

—
c
o]
3
2
2]
=

Y1=8poo :




